Chapter 20

Discussion Questions

	20-1.
	Name three industries in which mergers have been prominent.
Telecommunications and public utilities, pharmaceuticals, and energy.



	
	

	20-2.
	What is the difference between a merger and a consolidation?

In a merger two or more companies are combined, but only the identity of the acquiring firm is maintained. In a consolidation, an entirely new entity is formed from the combined companies.



	
	

	20-3.
	Why might the portfolio effect of a merger provide a higher valuation for the participating firms?

If two firms benefit from opposite phases of the business cycle, their variability in performance may be reduced. Risk-averse investors may then discount the future performance of the merged firms at a lower rate and thus assign a higher valuation than was assigned to the separate firms.



	
	

	20-4.
	What is the difference between horizontal integration and vertical integration? How does antitrust policy affect the nature of mergers?

Horizontal integration is the acquisition of competitors, and vertical integration is the acquisition of buys or sells of goods and services to the company.

Antitrust policy generally precludes the elimination of competition. For this reason, mergers are often with companies in allied but not directly related fields.



	
	


	20-5.
	What is synergy? What might cause this result? Is there a tendency for management to over- or underestimate the potential synergistic benefits of a merger?

Synergy is said to occur when the whole is greater than the sum of the parts. This "2 + 2 = 5" effect may be the result of eliminating overlapping functions in production and marketing as well as meshing together various engineering capabilities. In terms of planning related to mergers, there is often a tendency to overestimate the possible synergistic benefits that might accrue.



	
	

	20-6.
	If a firm wishes to achieve immediate appreciation in earnings per share as a result of a merger, how can this be best accomplished in terms of exchange variables? What is a possible drawback to this approach in terms of long-range considerations?

The firm can achieve this by acquiring a company at a lower P/E ratio than its own. The firm with lower P/E ratio may also have a lower growth rate. It is possible that the combined growth rate for the surviving firm may be reduced and long-term earnings growth diminished.



	
	

	20-7.
	It is possible for the postmerger P/E ratio to move in a direction opposite to that of the immediate postmerger earnings per share. Explain why this could happen.

If earnings per share show an immediate appreciation, the acquiring firm may be buying a slower growth firm as reflected in relative P/E ratios. This immediate appreciation in earnings per share could be associated with a lower P/E ratio. The opposite effect could take place when there is an immediate dilution to earning per share. Obviously, a number of other factors will also come into play.



	
	

	20-8.
	How is goodwill now treated in a merger?

It is placed on the books of the acquiring company, but it is not amortized. It is only written down if it is impaired.

	
	


	20-9.
	Suggest some ways in which firms have tried to avoid being part of a target takeover.

An unfriendly takeover may be avoided by:

a.
turning to a second possible acquiring company—a "White Knight."

b.
moving corporate offices to states with tough pre-notification and protection provisions.

c.
buying back outstanding corporate stock.

d.
encouraging employees to buy stock.

e.
staggering the election of directors.

f.
increasing dividends to keep stockholders happy.

g.
buying up other companies to increase size and reduce vulnerability.

h.
reducing the cash position to avoid a leveraged takeover.



	
	

	20-10.
	What is a typical merger premium paid in a merger or acquisition? What effect does this premium have on the market value of the merger candidate and when is most of this movement likely to take place?

Typically a merger premium of 40-60 percent is paid over the Premerger price of the acquired company. The effect of the premium is to increase the price of the merger candidate and most of this movement is likely to take place before public announcement.



	
	

	20-11.
	Why do management and stockholders often have divergent viewpoints about the desirability of a takeover?

While management may wish to maintain their autonomy and perhaps keep their jobs, stockholders may wish to get the highest price possible for their holdings.



	
	

	20-12.
	What is the purpose(s) of the two-step buyout from the viewpoint of the acquiring company?

The two-step buy-out provides a strong inducement to target stockholders to quickly react to the acquiring company's initial offer. Also, it often allows the acquiring company to pay a lower total price than if a single offer is made.




Problems

	20-1.
	The Clark Corporation desires to expand. It is considering a cash purchase of Kent Enterprises for $3 million. Kent has a $700,000 tax loss carry-forward that could be used immediately by the Clark Corporation, which is paying taxes at the rate of 30 percent. Kent will provide $420,000 per year in cash flow (aftertax income plus depreciation) for the next 20 years. If the Clark Corporation has a cost of capital of 13 percent, should the merger be undertaken?



	Solution:

The Clark Corporation

Cash outflow:

Purchase price
$3,000,000

Less tax shield benefit from tax


loss carry-forward ($700,000 x 30%)
–  210,000
Net cash outflow
$2,790,000

Cash inflows:

$420,000, n = 20, i = 13% (Appendix D)

$420,000 x 7.025 =
$2,950,500




Cash inflows
$2,950,500




Cash outflow
 –2,790,000



Net present value
$   160,500

The positive net present value indicates the merger should be undertaken.



	
	


	20-2.
	Assume that Citrus Corporation is considering the acquisition of Orange Juice, Inc. The latter has a $500,000 tax loss-carry-forward. Projected earnings for the Citrus Corporation are as follows:



	
	
	2004
	2005
	2006
	Total
Values

	
	Before-tax income
	$200,000
	$250,000
	$380,000
	$830,000

	
	Taxes (40%)
	    80,000
	  100,000
	   152,000
	  332,000

	
	Income available to
  stockholders
	$120,000
	$150,000
	$228,000
	$498,000



	
	a.
How much will the total taxes of Citrus Corporation be reduced as a result of the tax loss carry-forward?

b.
How much will the total income available to stockholders be for the three years if the acquisition occurs? Use the same format as that on the bottom half of the illustration on page ___.


	Solution:

Citrus Corporation

a.
Reduction in taxes due to tax loss carry – forward = loss x tax rate


  $500,000 x 40% = $200,000

b.
Citrus Corporation (with merger and associated tax benefits)

	
	2004
	2005
	2006
	Total Taxes

	Before tax income
	$200,000
	$250,000
	$380,000
	$830,000

	Tax loss carry-forward
	  200,000
	  250,000
	    50,000
	  500,000

	Net taxable income
	0
	0
	330,000
	330,000

	Taxes (40%)
	             0
	             0
	  132,000
	  132,000

	Income available to
stockholders (before
tax income—taxes)
	$200,000
	$250,000
	$248,000*
	$698,000**

	*
Before-tax income – taxes ($380,000 – $132,000 = $248,000)

**
Before-tax income – taxes ($830,000 – $132,000 = $698,000)

	
	


	20-3.
	Tax Investments, Inc., is considering a cash acquisition of Bubba Brewing Co. for $202 million. Bubba Brewing will provide the following pattern of cash inflows and synergistic benefits for the next 20 years. There is no tax loss carry-forward.



	
	
	Years

	
	
	1-5
	6-15
	16-20

	
	Cash inflow (aftertax)
	$220,000
	$240,000
	$280,000

	
	Synergistic benefits (aftertax)
	$  20,000
	$  22,000
	$  40,000



	
	The cost of capital for the acquiring firm is 12 percent. Should the merger be undertaken? (If you have difficulty with delayed time value of money problems, consult Chapter 9.)



	Solution:

Texas Investments, Inc.

Cash outflow (Purchase price)
$2,200,000

Cash inflows

PV factors for the analysis (12%) (Appendix D)



	
	Years
	(1-5)
	
	(6-15)
	
	(16-20)

	
	
	3.605
	1-15
	6.811
	1-20
	
7.469

	
	
	
	1-5
	–3.605
	1-15
	
6.811

	
	
	
	
	3.206
	
	
  .658

	Year (1-5)


Cash inflow
$220,000


Synergistic benefits
    20,000

Total cash inflow
$240,000



P.V. $240,000 x 3.605 =

$865,200

Years (6-15)


Cash inflow
$240,000


Synergistic benefits
    22,000

Total cash inflow
$262,000



P.V. $262,000 x 3.206 = 

$839,972


20-3.  Continued

	Years (16-20)


Cash inflow
$280,000


Synergistic benefits
    40,000


Total cash inflow
$320,000



P.V. $320,000 x .658 = 

$   210,560

Total present value of inflows

$1,915,732


Cash inflows

$1,915,732


Cash outflow

  2,200,000

Net present value

$ –284,268



	The negative net present value indicates the merger should not be undertaken.



	
	

	20-4.
	McGraw Trucking Company is considering a cash acquisition of Hill Storage Company for $3 million. Hill Storage will provide the following pattern of cash inflows and synergistic benefits for the next 25 years. There is no tax loss carry-forward.

	
	
	Years

	
	
	1-5
	6-15
	16-25

	
	Cash inflow (aftertax)
	$200,000
	$240,000
	$320,000

	
	Synergistic benefits (aftertax)
	$  30,000
	$  50,000
	$  90,000



	
	The cost of capital for the acquiring firm is 9 percent. Should the merger be undertaken?



	Solution:

McGraw Trucking Company



	Cash outflow (Purchase price)
$3,000,000

Cash inflows

PV factors for the analysis (9%) (Appendix D)




20-4.  Continued

	
	Years
	(1-5)
	
	(6-15)
	
	(16-25)

	
	
	3.890
	1-15
	8.061
	1-25
	
9.823

	
	
	
	1-5
	–3.890
	1-15
	
–8.061

	
	
	
	
	4.171


	
	
1.762

	Year (1-5)


Cash inflow
$200,000


Synergistic benefits
    30,000

Total cash inflow
$230,000



P.V. $230,000 x 3.890 =

$   894,700

Years (6-15)


Cash inflow
$240,000


Synergistic benefits
    50,000

Total cash inflow
$290,000



P.V. $290,000 x 4.171 = 

$1,209,590

Years (16-20)


Cash inflow
$320,000


Synergistic benefits
    90,000


Total cash inflow
$410,000



P.V. $410,000 x 1.762 = 

$   722,420



	
Total present value of inflows

$ 2,826,710


Cash inflows

$ 2,826,710


Cash outflow

    3,000,000

Net present value

($–173,290)



	The negative net present value indicates the merger should not be undertaken.



	
	

	20-5.
	Assume the following financial data for the Baker Corporation and Howell Enterprises.


	
	
	Barker
Corporation
	Howell
Enterprises

	
	Total earnings
	$400,000
	$1,200,000

	
	Number of shares of stock outstanding
	200,000
	1,000,000

	
	Earnings per share
	$2.00
	$1.20

	
	Price-earnings ratio (P/E)
	12x
	20x

	
	Market price per share
	$24.00
	$24.00


	
	a.
If all the shares of the Barker Corporation are exchanged for those of the Howell Enterprises on a share-for-share basis, what will postmerger earnings per share be for Howell Enterprises? Use an approach similar to that of Table 20-3.

b.
Explain why the earnings per share of Howell Enterprises changed.

c.
Can we necessarily assume that Howell Enterprises is better off or worse off?



	Solution:

Barker Corporation and Howell Enterprises


(approach similar to Table 20-4)

a.
Total earnings
Barker
($   400,000)



+ Howell
($1,200,000)



 $1,600,000


Shares outstanding
Old
 (1,000,000)

  
  in surviving corporation:
+ New
    (200,000)



$1,200,000


New earnings per share for Howell Enterprises
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20-5.  Continued

	b.
Earnings per share of Howell Enterprises increased because it has a higher P/E ratio than Barker Corporation (20x versus 12x). Any time a firm acquires another company at a lower P/E ratio than its own, there is an immediate increase in postmerger earnings per share.

c.
Although earnings per share for Howell Enterprises went up, we can not automatically assume the firm is better off. We need to know whether the Barker Corporation will increase or decrease the future growth in earnings per share for the Howell Corporation and how it will influence its postmerger P/E ratio. The goal of financial management is not just immediate growth in earnings per share, but maximization of stockholder wealth over the long-term.



	
	


	20-6.
	The Mantle Corporation is considering a two-step buyout of Maris Environmental Systems. The latter firm has 2 million shares outstanding and its stock price is currently $20 per share. In the two-step buyout, Mantle Corporation will offer to buy 51 percent of the Maris shares outstanding for $34 in cash, and the balance in a second offer of 980,000 convertible preferred stock shares; each share of preferred stock would be valued at 45 percent over the Maris common stock value. Mr. Pepitone, a newcomer to the management team at Mantle Corporation, suggests that only one offer for all the Maris shares be made at $32.50 per share. Compare the total costs of the two alternatives. Which is preferred in terms of minimizing costs?



	Solution:

The Mantle Corporation

Two Step Offer

1.
51% x 2,000,000 shares = $1,020,000 shares


1,020,000 shares x $34 cash =
$34,680,000

2.
980,000 shares of convertible preferred stock x


$40 (1.45) = 980,000 x $29 = 
$28,420,000

Cost of two-step offer
$63,100,000

Single Offer


2,000,000 shares at $32.50
$65,000,000


The two-step offer is preferred because its cost is $1,900,000 less.



	
	


	20-7.
	Lindbergh Airlines is planning to make an offer for Flight Simulators, Inc. The stock of Flight Simulators is currently selling for $30 a share.

a.
If the tender offer is planned at a premium of 60 percent over market price, what will be the value offered per share for Flight Simulators?

b.
Suppose before the offer is actually announced, the stock price of Flight Simulators, Inc., goes to $42 because of strong merger rumors. If you buy the stock at that price and the merger goes through (at the price computed in part a), what will be your percentage gain?

c.
Because there is always the possibility that the merger could be called off after it is announced, you also want to consider your percentage loss if that happens. Assume you buy the stock at $42 and it falls back to its original value after the merger cancellation. What will be your percentage loss?

d.
If there is a 75 percent probability that the merger will go through when you buy the stock at $42 and only a 25 percent chance that it will be called off, does this appear to be a good investment? Compute the expected value of the return on the investment.


20-7.  Continued

	Solution:

Lindbergh Airlines

a.
Market price of Flight Simulators, Inc.
$30


+ Premium of 60%
  18

Value offered per share
$48

b.
Value offered per share
$48


Purchase price
  42

Gain
$  6


Percentage gain
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14.29%

c.
Value after cancellation (original value)
$30


Purchase price
  42

Loss
$12


Percentage loss
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	d.
Return
Probability
Expected Value

+14.29
.75
$10.72%


–28.57
.25
–  7.14

Expected value of return
    3.58%


It appears to be a good investment.



	
	


	20-8.
	Dr. Payne helped start Surgical Inc. in 1969. At the time, he purchased 200,000 shares of stock at $1.00 per share. In 2004, he has the opportunity to sell his interest in the company to Medical Technology for $40 a share. His capital gains tax rate would be 20 percent.

a.
If he sells his interest, what will be the value for before-tax profit, taxes, and aftertax profit?

b.
Assume, instead of cash, he accepts stock valued at $40 per share. He holds the stock for five years and then sells it for $72.50 (the stock pays no cash dividends). What will be the value for before-tax profit, taxes, and aftertax profit? At that point in time, his capital gains tax will be 20 percent.

c.
Using an 11 percent discount rate, compare the aftertax profit figure in part b to that in part a (that is, discount back the answer in part b for five years and compare it to the answer in part a.) 



	Solution:

Surgical Inc.



	a.
	
Sales amount
	200,000 Shs. x $40
	$  8,000,000

	
	
Purchase amount
	200,000 Shs. x $1.00
	       200,000

	
	
Before-tax profit
	
	$  7,800,000

	
	
Capital Gains Taxes (15%)
	    1,170,000

	
	
Aftertax profit
	
	$  6,630,000


	b.
	
Sales amount
	200,000 Shs. x $72.50
	$14,500,000

	
	
Purchase amount
	200,000 Shs. x $1.00
	       200,000

	
	
Before-tax profit
	
	$14,300,000

	
	
Capital Gains Taxes (15%)
	    2,145,000

	
	
Aftertax profit
	
	$12,155,000


	c.
	
Discount back $12,155,000 for 5 years at 11 percent


$12,155,000, n = 5, i = 11% (Appendix B)


$12,155,000 x .593 = $7,207,915

This value of $7,207,915 clearly exceeds the value in part (a) of $6,630,000. Deferring the tax appears to be the more desirable alternative.




	20-9.
	Assume the Knight Corporation is considering the acquisition of Day, Inc. The expected earnings per share for the Knight Corporation will be $4.00 with or without the merger. However, the standard deviation of the earnings will go from $2.40 to $1.60 with the merger because the two firms are negatively correlated.

a.
Compute the coefficient of variation for the Knight Corporation before and after the merger (consult Chapter 13 to review statistical concepts if necessary).
b.
Comment on the possible impact on Knight’s postmerger P/E ratio, assuming investors are risk averse.



	Solution:

Knight Corporation

a.

Premerger
Postmerger
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b.
Risk averse investors are being offered less risk and may assign a higher P/E ratio to postmerger earnings.



	
	

	20-10.
	McNeeley Construction Co. is considering two mergers. The first is with Firm A in its own volatile industry, whereas the second is a merger with Firm B in an industry that moves in the opposite direction (and will tend to level out performance due to negative correlation).



	
	McNeeley Construction Merger
with Firm A
	McNeeley Construction Merger
with Firm B

	
	Possible
Earnings
($ in millions)
	Probability
	Possible
Earnings
($ in millions)
	Probability

	
	
$10

	.30
	
$30

	.25

	
	
  40

	.40
	
  40

	.50

	
	
  70

	.30
	
  50

	.25



	
	a.
Compute the mean, standard deviation, and coefficient of variation for both investments (consult Chapter 13 to review statistical concepts if necessary).

b.
Assuming investors are risk averse, which alternative can be expected to bring the higher valuation?




20-10.  Continued

	Solution:

McNeeley Construction Company

a.
Merger with A (answer in millions of dollars)
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20-10.  Continued
	Merger with B (answer in millions of dollars)
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	b.
Though both alternatives have an expected value of $40 (million), the lower coefficient of variation, and thus lower risk in a merger with B, should call for a higher valuation by risk averse investors.
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